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COD:2.194 T-N:2.575 T-P:0.006

2

COD T

N T-P

kg/ha year

2001

mg/L

kg/y

kg/ha y

COoD

T-N

T-P

COoD

T-N

T-P

COoD

T-N

T-P

st 4973.112 2.51

0.648

0.048

12490.8007

3223.886

238.826411

55.713

14.380

1.065

st.2” 9123.630 2.28

0.938

0.040

20789.1043

8561.007

361.968032

15.370

6.329

0.268

st3” 34132.549 2.87

0.954

0.064

96677.453

30690.336

1652.280

55.938

17.758

0.956

=

13.085 151

1.833

0.050

20.409

23.947

0.060

2.194

2.575

0.006

st.1 st.2

T-P

COD:60.815 (kg/ha year)

COD T-N

COD T-N

T-P

st.1

st.1

st.2

x 10°m°/y

st.2

1)

CoD

T-N

T-P

29.3

12.00

117

10.1

9.00

0.77

olo|a

19.2

3.00

0.40

Cob

T-N

T-P

stl | st2

stl | st

2 st.l st.2

501

kg/d

6.655] 1.66

6.814

1.700

0.664 | 0.166

501

kg/d

0197 —

0.086

0.027

kg/d

6.852] 1.66

6.900

1.700

0.691 | 0.166

kg/d

8.512

8.600

0.857

kg/y

2501 | 606

2518 | 62

1 [252.24] 60.50

ka/y

3106.807

3138.977

312.736

10

5

1/2

1

T-N

1/5

49

3)

vol.55(11) p297

COD

30
5)

COD kag/y

T-N kg/y

st.l

9989.89

705.39

T-P kg/y

st.1 st2

7692.40

4716.62

62.643

20.409

23.947

0.06

CoD

T-N

T-P

6.817

4.180

0.056

60.815

2.701

2.194

2.575

0.006

(1999)

COD1/2

2)

T-N1/5

(1996) p389

2002

kg/ha/year

4)
p162-163




